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e 114 oden, 2021-22

[221105-C]
CHEMISTRY
(Hindi & English Version)
[Total No. of Questions: 19] (Total No of Printed Paqger 77
[Time: 03 Hours] . [Maximum Marfts:_ 70]

e — -
(1) &f 577 8 e I &/
(2) 57 F9F 01 & 04 T TG 4T &1 Forad fry (1x28=28) 7% FafRa &)
(3) ¥ #%F 05 @ 12 OF AAF 777 2 Ao &7 &) W& Ay 30 v B/
(4) 7% F5® 13 § 16 OF FAF 777 3 JF 37 &1 yag diay 75 waw 2/
(5) R¥T #HF 17 & 130 04 Fw Rl &1 v dr 120 vz B4
(6) ¥ FHE 18 VT 19 TF AAD T¥ 5 T #71 ¥/ vy &y 150 v &)
Instructions-
(1) All questions are compulisory.
(2) Question number 01 to 04 are objective type questions and esch
question carries 1x28=28 marks. Total marks are (7x4= 28)
(3) Question numbers 05 to 12 in about 30 words each. Each qQuestion
carries 2 marks.
(4) Question numbers 13 1o 16 in about 75 words each. Each Question
carries 3 marks.
(5} Question number 17 in about 120 words question carries 4 marks.

(6) The question number 18 to 19 in about 150 words each. Each Queshon
carries 5 marks.
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91 W Rwe gy fafeg- - (x1=1)
() & e o @D g3 CHe 21 8@ TW IUHR 42 TH 2 '

THDT HURGH BT —
(& CHa (@) CoHe
() CsHe (%) - CsHe
(i) UP O & AN FAG 1 B, T iawge H gHfa el —
(@) aia @ =¥y
(@) Sz (1) SerA .
(i) T (H), T (P), 3T (V) T IraRe Fwt (U) D = 71 Ha
y_
@) U=H+PV @ H=U+PV
@ H=U-PV @ H=E+P+V
(iv) §1 2HI(g) = Hz+ 2 @ R 3 w1 aivie el 87
(@) Kp=Ke @) Ko>Ke
@ Ke=2Kp (@) Kp=K(RT)?
(v) i Rugex ¥ #ed & w9 # JYR B § —
(1) Cd (@ V-235
(@) Pb & D20
(vi) PrEror 2 —
@) gg FEa @ COCi2
(H)_ CO + CO2 B) CO2+ 0
(vi) TF qo I & —
(&) de § SET @) @ Ir
(@) ITg=ED (8) SwEm W

I —
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Choose and write the correct option -

(i) The empirical formula of compound is CH.. Atomic mass is 42

gram. Find out the molecule formula -

(@) CHa (b) C2H:
(c) CaHs - (d) CsHs
(i) The atomic number of an element is 11. The nature of its oxide
will be -
(a) Acidic (b) Basic
(c) Amphoteric o (d) Neutral

(i) The relation between Enthalpy(H), Pressure(P), Volume(V)

and Internal Energy (U) is -

(@ U=H4+PV (b) H=U+PV
(c) H=U-PV d) H=E+P+V
(iv}) Equilibrium 2HI(g) = Hz+ |2 which is correct derivative?
(a) Kp=Kec (b) Ko>Kc
() Ke=2Kp (d) Kp=K(RT)?
(v) Which is used as moderator in nuclear reaction?
(@ Cd (b) V-235
(c) Pb (d) D20
(vi) Carbogenis -
(a) Purecarbon (b} COCI:
(c) CO +CO: (d) COz2+ 02
(vii) A free Radical is -
(a) Neutral in character (b) Instant age
(c) Paramagnelic (d) Ail of the above
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Ra w4 ) Rea e o - (7x1=7)
(TS / aaeenfad / gaaTas)
(3P / 7% / aXTR)
(i) & PTG S WU @t w3y
(agan / wear / qulafda &)
(Ca®*/Na*/K*)
| (Mg /Na/K)
(v / i / awereita)
(vii) WfeT IAve B ATy @ Ty ™ T w® R . (< | & 4
(wifsam / 45 / Teaba)
Fill in the blank with correct option-
) e have same number of proton.
(Isobar / Isotopes / Iso-pressure)
(i) Electron affinity of fluorineis ... than that of chlorine.
(more / less / equal)
(i) The value of dipole moment...............with increasing bond angle.
(increase / decrease / no change)
(V) e, iON Wl CAUSE hardness in water sample.
(Ca®*/Na*/ K*)
(v} Inthe Grignard reagent...................metal forms an organometallic
bond.
- (Mg/Na/K)
(vi) The shape of the carbonium ion CH3 0Su oo
(Linear / Pyramidal / Planer)
(vii) Sodium benzoate is heated with soda lime ... is formed.
(Sodium / Benzene / Alkane)
T Al TN fafag - (7x1=7)
Y wW T (3)
() IS W B T dfafa=~rrs

(@)
(i) Y=Y FTcH [ (@) s
(i) 9ad JdFfIFRS (M) ez
(iv) AT} Tet &1 IuA Bar (0) wa@ wrarme
(v) & s (8) w2 &
(vi) = qHranaar (u) ey

(W)

(vii) 9ad &1 gaaadt RITH Rugey )
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Match the columns and write the correct pair -

Column ‘A’ Column ‘B’
(i) Father of Modern Chemistry (a) Orientation
(i) Magnetic Quantum number (b) Fluorine
(iii) Strong oxidizer (c) Lavoisier
(iv) Use of heavy water (d) Strong reducer
(v) Alkali Metals (e) Bute-2-ene
(vi) Geometrical Isomerism (fy Acetone
(vii) Isomer of propanol (g) Inatomic reactor
UE iy § SR oy - (7x1=7)

(i) STP WX 22.4 L CO. &1 G aar &rm’?

(i) “LCAO" & 1 AW @ &7

(i) Tt @ gHE T EA?

(iv) CaOCl: ¥ Ci & 3ifafiavvr aawen a1 grm?

(v) &g argelt F e @ Srerir St &1 w6 A A fafan -

Na*> Rb* > K* > Li*

(vi) j\ #1 IUPAC 71 2|
CH, CH,
(vii) 71 @ & e et Y RieRr ol & W T FE W g 8
Write the Answer in one sentence each -
(i) What will be the mass of 22.4 L of CO: at STP?.
(i) Whatis the full name of “LCAQ™?

(i) What is the unit of Entropy?
(iv) What will be the oxidation number of Ct in CaOCt2 compound?

(v) What will be the correct order of hydration energy in Alkali

metals?
Na* > Rb* > K* > Li*
O
(vi)  Write the IUPAC name of /lL _
CH, CH,

(vii) What happens when iodoform is formed on heating with silver

powder?
A goea & 27 @)
What is mole concept?
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sgar/ OR
f&a ypR g9 fag s A g9 Asor &, e T9°7
How will we prove that air is a mixture and not a compound?
gRReror wrg @@y 27
What is shielding effect?
syar/ OR
@ & gt ¥ I9Rerm dl @ Wie R e o wEE @ e g
Why do elements in the same group have similar physical and
chemical properties?
NHs @1 NF3 ¥ {1 3] &1 faga amget aifts 2 ok #1?
Which molecule has more dipole moment in NHz and NF3 and why?
eyar/ OR
NHz & H-N-H &9 3191 PHs ¥ H-P-H 991 31v1 9§ s @ @ai?
Why the H-N-H bond angle in NHs is greater than the H-P-H bond
angle in PH3?
Fifas arg AR FHIfas 3" T 27
What is critical temperature and critical pressure?
3t/ OR
freft o o =ar § @9 9 2 SR @Y
Which one is heavier between wet air and dry air and why?
T &1 fm a8
What is Henry's law?
e/ OR
pH @d FaT 87 |9%se |
What is pH scale? Describe it.
urRfRrgm A ga ¥ Wfemn &% hardfa #ai 2?7 sagu)
Explain, why sodium is less reactive than potassium?
ayar/ OR
a1 g 87 99 —

(i) AW B g@ A SATA ATH 2|
(i) FOARE g T /A yfafa b 2
What happens? When -

() Magnesium is burned in air.

(i) Chlorine reacts with slaked lime.
gogeta i o afade (3@ am 20

] &y_l_r_lat is Electrophile and Nucleophil_e_?
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FAl FTAA W wRgy WIM/OR

Describe the structure of carbocati
tion.
fFr=foiaa dtftve

3 are
(i) JrgEnfg Wa::u e e

(i) 2.3-31% Ruga a2

Write the bond line formula of the following given compound -
(1) Isopropyl Alcohol

(i) 2, 3 - Di Methyl Butane

112

Jvar/ OR
WRITE 9Tg AR gFTIRE wara A @) afer faifa |

Write two differences between Inductive effect and Electromeric effect.
913 (n + () e Sgmeve gk @)

Describe the (n + () Rule with example.

srerar/ OR |
I Ry T g gamE (A) AR oRE] W@ (2) i uRenogelt @ gof
T fafaw -

@ z=17 ., A=35
() Z=92 , A=233
(i) Z=4 . A=9

Write down the full symbols of atoms having Atomic mass (A) and
Atomic number (Z) —
i) Z=17 , A=35
(i) Z=92 A =233
(i) Zz=4 , A=9
U14 PV=nRT @1 27 fafag ok firg ST
What is PV=nRT? Write and prove.
arEr/OR
frfaRaa @ ol #IRIg -
(i) <8d &=
(i) SerdifaeRor
Define the following —
(i) Combustion heat
515 2'«3& mﬂeutragﬁlﬁﬁ geTexn digd 'wrsns\*u
Describe the law of mass action rule with an example.
arear/ OR
w e Ko @ Ke @ HaY uifrd BT |
Describe the relation between K, and K.
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16 | B fefoimy § $9 gRafda sa7?

917

.18

318

(i) TS A (iy ST (iii) Ty
How will you convert benzene to the following?
(i} Nitro Benzene (i) Toluene (i) Acetophenone
: Jear/OR
"ghd & fFram e |
Write Huckle's law.
g Hifrg —
Cp-~Cv=R
Prove that —
Cr-Cv=R
Juar/ OR

2 @& fAg9 Igrevy wfea awssy |
Explain Hess's law with example.
arifbd ol & aifedisver der fafay —
(i) KoMn*Os

(i) H2S2"0g

(iii) N*H;

(iv) Cr2*07%

(v) Na'BHs

Describe the oxidation number of starred element —
(i) KaMn*O4

(i) H2S2"Og

(i) N*Hy

(iv) Cr*07%

(v) Na*BHa

3rmar /OR
ISR afafear &1 SuaT forfag |
Write the use of Redox Reaction.
NGHRUAT 1 27 HE & HIZ S ATRAT HI ISR AfEd gHn30 )

What is allotropy? Explain any two allotropes of carbon with example.

Jear/OR
fefafaa @1 gsmEy -
(i) @ (iy fm 7w wiE (i) fuforer
Explain it-

(i) Catenation (i) Inertpaireffect (i) Silicons

.................................................
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